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_ Section A - -

' 'V,V'Answen'all questions.  :
.Each question carries 1 mark. . '

" What do you mean by transhlpment problem T o

Deﬁne unbalanced transportatlon problem

.When is the solutlon to a LPP 1nfea51ble ?
) What is pnmal and dual of LPP ?
" Explain Non degenerate bas1c fea51b1e solution.

- Cite any two areas where asmgnment techmque is apphed.'.'

Define No passmg Rule :
Deﬁne Optimal Solution. .
Clte any two uses of OR.

What is degeneracy in transportatlon problem 7

 Section B

Answer all questioms; .

 Each question carries 2 marks.

Explain the mathernatical formulation of an LPP.

Explein .proje_ct erashing.
Explain dual siinplex method.

Deﬁne shadow prlce

_ Maximum : 80 Marks

: {10x 1= 10.marks)

¥

Explain how a transportatmn problem is expressed in the form of an, LPP.

Write any two uses of Network techniques.

Turn over
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28.

What is dummy act1v1ty 7
Deﬁne Slack and Surplus Var1ab1es

"~ Section C
Answer-any six 'questione.
- Each question carries 4 marks.

Wnte a note on Project Crashmg

Explam any method of solvmg Imtlal fea51b1e solutlon of Transportatxon problem

' Explam different phases in the apphcatlon of Network Techmque
Distinguish between 'I‘ransportatlon and a551gnment problem

Define Independent, total ‘and free ﬂoat

Explain optimal project durat;on and crash cost'.. |
Write the characteristics of dual p'roblem:
Describe loops in transportation 'problem'. '

Explain the steps involved in critical path method.

Section D .

Answer any three questions.
Each question carries 10 marks.

A company has three jobs on hand. Each of these must be procéssed through two departments, the

sequential order for which is Departinent A- press shop, Department B-finishing. The table below -

lists the number of days requlred by each job in each department :
| JobI ~ JobT JobIM
Department A -8 6 | 5
. DepartmentB- - -8 _'  3 4

Find the sequence in which three jobs should be processed so as to take minimum time to finish

all the three jobs. What are i) Minimum total time it} idie time for both departments.

9. . csl

(8x 2 = 16 marks) -

(6 x 4 = 24 marks)
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Solve by duslity Methdd

~ ‘Min Z= 2x1 +a.2 Sub_}ect to,

: 31'1 ‘l'xz ._>_3
. 4x1 +3x2 .>_6
- X+ 2x9 23

e Xy Xo ?_O

- 30.

31.

32,

“be produced of each type so as to maximise the profit and solve the LPP.

‘Solve the_folldwiﬁg travelling Salesman PI'OblB.I"n :

, To city _
1 2 8 4 5
1 - 10 25 25 10
2 - 1. - 0 15 2
-3 .8 9 - 20 10
& 14 10 24 - 15
5° 10 8 25 27 -

Solve the transportatmn problem to minimize the total transportatlon cost :
: _ . Supply |
18 12 14 16| 40
24 24 27 33| 80 -
| 42 '3_4" 31 26| 130
* Demand 9 80 30 . 50
A company produces two types of cow boy hats. Each hat of the first type reqmres tw1ce as Much k

- labour time as the: second type. If all hats are of the second type only, the company can produce
- only produce a total of 500 hats a day. The market limits daily sales of the first and second fypes to
150 and 250 hats. Assuming that the profit per hat are Rs.8 and for type 1 and Rs. 5 for type 2.

Formulate the problem as a linear programfning model in order to determine the number of hats to

(8 x 10 = 30 marks)}




